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Employee

Employee_POID: CHAR(16) <<PK>> <<Surrogate>>
Employee_Number: INT24 <<AK>> {key = AK-1}

Given_Name: VARCHAR(30)
Middle_Name: VARCHAR(30)
Surname: VARCHAR(40)
Preferred_Name: VARCHAR(40)

1 earns 1.

Salary
{access rights = HR}

Salary_POID: CHAR(16) <<PK>>

Employee_POID: CHAR(16) <<FK>>

Amount: FLOAT
Start_Date: DATE
End_Date: DATE
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<<View>> {read only}
HR Database —

Employee Info

Employee_Number: INT24 {ordered by}
Full_Name: VARCHAR(100)
Middle_Name: VARCHAR(30)
Social_Security_Number: CHAR(10)
Work_Phone: INT24

Cell_Phone: INT24

Last Updated: 14/08/2003

<<Physical Data Model>>




